g(x)=x’ +3

AR SN b el At L
e

o u,b(_ ) s+ @) 52 (A) o fin piis 333 (£ ) oot I e

: x’ +3x" +3x+2 s s ine i
- = IR — {1} = Va1
f(x) (x+1)2 - {
(O,I,J)WJWPGMW 'f;!)
RIWEAEP (B e (—a0)s(+ ») (- 1)z f U‘-\"‘W-’w-ﬂ‘y:
1 i
= b R eax snioeagas(
'f(x)—x+l+(x+l)’ {}u*

(A) painall dpailly (.{),)uh‘u!\ %éswﬁ"é

N g(x) JR =1 oe x s ol paddl @34 (3/
.f(.r)—(x+l)1 . {}u‘x s -
f A i g S 5. f A e g (2
3 o

o) 41 pes g P‘f(a)=m';‘
-ag;a-;ww‘,h\a&a,wleﬂﬂwéh‘é*f('ﬂJ 7
i | .(C,)uh-"‘“-’ i i) Shadiaall

: il Jla 5309 355 il sl o e 9

Scanned with CamScanner



———
. e

| A 8
AB—-3'1?‘>'5=“‘*D’A"‘“M\“} :
D ¢ Fﬂ’_l_ABMu,_.MEJ{AD]M
5 AE—3
| b e SR A CD W\u-sﬂ“*‘““‘-""wwm -'
s '\.xLuEF"“HE U‘U*‘"‘HM\W *
b il 2 M\u\d""("'

Scanned with CamScanner



